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iLl LA1i)"t11Lfifl'~ihff"1An!.Qfifl1lld"f1Fi1'Rttfl::00 MVA 15 kV 50 Hz LLft:f1fii1A"fl
A,,)111L~i)t1L ~1tt1J 2.5 MJ/MVA tU&Un')::Li1I~uLA1il"~ 'Ut11«"~1[Jfh«"nRt"'LLriLA1il"t11Lfi"

'\~i'h 0.5 pu LLR:LA1il"t11Lnfl'~i'hfl.lIn1't11lt1'~' h-~1I1'Lfli)'f~,,1:I : ~ = 2.037251no
pu

(n) ~1LA1il"t11Ll1fl'\~'h'Wt1"1uflA")111Lhfl"1..,nr. ~"'LA11:'M1Il1Fi1'"«""1U~R\1fl

L"lJ.:.lItul'Lflil'f
(,.) ~"LL1JR"Fi1A"flA,,)111L{{iltltl il"LA1il"t11Ll1fl'.~-;n1:It1ll~1" l\"tt1JFi1t11«'" Mi'h 500

MVA
(A) ~"'LAn:\(1Il1Fi1~1I1'Lfl il'ftUtU.1l1"):Li1Ili U
(,,) t'i1fiil1l1'[1IlRfl,.il"LA1il"t11Ll1f1'LM'hllFi1L9l)jtu~1n.1l1'):a;1I~uLi4t1"LAnUilU

~,,'LAn:lfi1LA1il"t11Ll1fl'M,h1:Itr"A"f1Liff IEI,n1,"LLWilrJ«')1Il1il'lJJ LLfttt'i1f1
LftftEl,n1,"Uo1JlJilrJ«" ~,,'LAnt\t1ll1A')111dt,11J!flI,.il"n1'LLni",.il"~l1'['Lfl il'f
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2

f =50 Hz I XT = 0.1

Xd=0.3 fG\i-3 1

H=SMJIMVA~

3

._.._.•~ =1 pu

ao PF =0.95 Jag

V3 =lLO°

tu.nl')::L~...ULA1il"ttlLllfltvf'9hfi1r. 3 t ...,,1.1 1,f"tl'4'9h 1 pu f1fii'LYflL')il'fuvfn­
Lflil'f 0.95 l!i1"f" tilLnflffl,)"~'U1.l1.l 3 Lvfa fltl. 4 ~ 3f)LAn::,{",

(n) .2Jnl'tt'f"tvf'9h-242J'bL~il'f!lil"LA1il"t1· Lllfltvf'9hfltl. 3 tU'fl1u::ffl,)"~'
(!I) .2Jnl'''''!Iil''LA1il"ttlL1lfltvf'9hfltl. 3 tU.fl1u::ffl,)"~'
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Pe =1 pu
f = 50 Hz ••••••..1 Xy=O.1

Xci = 0.3 ®-i-1
H=5MJIMVA

V3 =lLO°

tuall'l::L~~ULA;il"fi'LnPl"lifJ,llalln"fi,ef\l1.li"'h-~lI't1LPlilifT"n Pe-pref'aUlt =
2.4638sino fiil1l1LnflefPll"~1LLUU 3 L't'4« flg« 4 \'lhvht"allnl1fhef,,"ywh-~1I't1LPlili

LuAtJULtlU Pe-fault = O.9151sino 'Mef"~lmfuL!lilinflLll1mnili 842 LLR:: 843 """uLfiilllRPl
~PlefPll"~1ililn ~"vht"alln"ri'ef,,"li"'h-~lI't'LPlilidAElULrJU Pe-postfault =2.1353sino ~"
'LAl1::\-f'M,~""nClPltun"LA.tJi~ilRf{!lil"L!lilinPlLU' 'lLnili 842 LLR:: 843
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~ LA;il""1Ll1,.'Mi41fh)'[A71laQl1.ndi"flFl1-A"'tlA'l1lJa 50 Hz flFl1A"flA11IJLGilu 5
MJjMVA tU.Cl1u::L;IJ&·huA~il"ri1Ll1tl'M~1,",1t1ri11,,', 1i41~'" 1 pu LLR::flFl1~1J'['SLf'lili

23.94610 ttilIJ1Lnfllfll"~'LLllll 3 LoW_ tutU'::1l1lLLR1 Vl1t~.lJfl1'1fh&f,,'oWi41-~IJ'['SLf'lili

tJil"LA~il""1Ll1,,'Mi41u.JAuULflu Pe-fault =0.9151sin~
,"1"~1mnfllfll"~' 0.15 'u1f1 L!filinf'lLll'lflLf lili~LAltI'n~ilRf{~"~1t~.lJfl1'1

"1&f"'M~1-~IJ'[1'Lf'lilitJiI"LA~iI""1Ll1fl'oWi41LtlAuULfI'lPe-posttaUIt =2.1353sincS
~"'LA,,::\hnf'i1~1J'['Lf'lili Ol LlR1 0.30 'U1f1 '[flutme step-by-step 4t""1'Mutltll

t-BFl1 !:J.t= 0.10 'u1f1 LLR:&'iil"'LA'1::\4''[flutt'ivlflll1u). 4 "1LL'MU"
HH1UWI ~il"'LA'1::"'[flutt1V1flfl1ulJ4 f11LL'MU"
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i.I...5 LA;ih'ri'LI1"'~1hfh1'[Anr. 2 (111" fiiltlU'U~1J LoAaoi'Dri,A'"'Mi4,~.,,,t'Muri'['MR"

750 MW LA;a"ri'L11","hoq,uiiR::(ll1ftt]tQ"tf"llii,."Fi1LfiilLYfa"UR::t1a1lL1Iftri,A'''Na".r"
u"""tu.J.ln"ii,,,i4,,,

IC. =0.35PGl +38511''VI/MWh, 100 J,fW ~ PGl S625 MW

ICz =0.42PGZ + 280 1I1'V1/MWh , 100 .~ S PGZ S 625 MW

(n) ~"(ft.,·n1"",.,afl"'J.I'Mlmflfflt!",."it'llUflLA;a"ri'L11",'tii4,\f" 2 (111ft
(11)~"'LA,,::){,.nFi1LiiaL..,a"'9llia,,oi'DL~lI"'U ti'\If,n"~ft."ri,A'",.,"" t'MunLA;a"

ri'Ll1fl''ti,h\f" 2 Ql1ft atl'''L\lt1~u
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D.i .hJ(,..",hLf"Na,...1J,J'MA'mfll'ti'!lfII1.,,'ft'MLLnL =t;i)"t11Lllt'l'lW"'1~" 3 ~1l" t"LL.""
tU11Jii1"S1" 't51EJ'! Bisectional iterative method fh~ .u..t'Mt'8 A.0 =475 U1V1/MWh LL~::

A.1 =485 lJ1V1/MWh LL~::A1«ti~A,]1J,JLflEJ""'''(E) LVt1"'tJ 0.5 MW

IC I = 325.5 + 1.435PGJ + O.00420pal

IC2 = 266.0 + 1.085PG2+ O.OO280pa2
2IC3 = 283.5+1.105PG3 +O.OO385PG3
&[r IDsmission system

Gl 1----.360 MW
(Neglect loss)
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D.Z ~"tfU.,.'ti1«",..aflfl1J,fM«m,.'Jt!,.1ftflitMLLtim;il"ti1Lil"'~jJ1~"2 Qilfl 4t"LLft""
tU'J1,Jii1"R1" ,(,,~B Bisectional iterative method ti1'IU"tMt'8 A0 = 397 lJ1Y1/MWh LLR:
1..1 = 401lJ1\11/MWh LLRtFi1tKtiflA.,1J,fLflu""'''(6) L\11"lJ 0.1 MW

Gl ICt = 0.28PGl + !80 lJ1Y1/ MWh

Transmission system

Bll = 6.4327 x 10-4 MW-t -. 335.5MW

G2 IC2 = 0.42PG2 +315lJ1Y1/MWh
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